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CEUR R B AR EF ML o R 85tkE (em) (X) & FiiE L

(oveg/2g ) (Y) ihld 7‘%" #\ Kicha* PRIPKF (cm) ¥ & 5
FRIFHRHE L (/200 ) S3@%R Ik kg (cm) & EHR#FE L
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% ¥ thAdc | Tiodc | %> (variance) | 4% (covariance)
%% (cm) 100 235 90 45
BiRgEE (o[ ) 100 50 25
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Kte F B a=P(t>tay)

df | 0=0.10 | 0=0.05 | 0=0.025 | 0=0.01
2 1.886 2.920 4.303 6.965
3 1.638 2.353 3.182 4.541
4 1.533 2.132 2.776 3.747
5 1.476 2.015 2.571 3.365
6 1.440 1.943 2.447 3.143
7 1.415 1.895 2.365 2.998
8 1.397 1.860 2.306 2.896
9 1.383 1.833 2.262 2.821
10 1.372 1.812 2.228 2.764
11 1.363 1.796 2.201 2.718
12 1.356 1.782 2.179 2.681

F4& % & o=P(F>Fa=0.05, df,, df,) =0.05

dfz \ df: 1 2 3 4 5 6
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161.4476 199.5000 215.7073 224.5832 230.1619 233.9860
18.5128 19.0000 19.1643 19.2468 19.2964 19.3295
10.1280 9.5521 9.2766  9.1172  9.0135  8.9406
7.7086 6.9443 6.5914  6.3882 6.2561 6.1631
6.6079 5.7861 5.4095 5.1922 5.0503 4.9503
5.9874 5.1433 47571 45337 43874 4.2839
5.5914 4.7374 43468 4.1203 3.9715 3.8660
5.3177 4.4590 4.0662 3.8379 3.6875 3.5806




